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10.

ANSWER ALL QUESTIONS
PART-A (10x2=20 marks)

Define ‘per capita demand.
Define yield of a well:
What are the intakes?

Distinguish between Water Horse Power and Brake Horse
Power.

Define stroke’s law
Define ‘disinfection’

Distinguish between temporary hardness and permanent
hardness.

Define hyper filtration.
Distinguish between washout pipe and overflow pipe.

What is a hydrant?
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PART-B (5x16=80 marks)

State the objectives of water supply
system and give the sequence of units tc
be installed for a typical water supply
project.

How would you make the use of rate of
demand and population in arriving at the
total quantity of water required for a
particular locality?

Or
Explain .the method of calculating
reservoir capacity for a specified yield from

the mass inflow curve.

Enuméraﬁe the tests which are carried out
for.the ﬁilalysis‘qf water,

Describe-, the intake towers with neat

. sketeh. Explain its two major types.

Name various materials which are used
fof pipes and mention the advantages and
disadvantages of each of them.

Or

A town has a population of one lakh
persons. It is to be supplied with water
from a reservoir saturated at a distance of
6.44km. It is so stipulated that one-half of
the daily supply of 140 litres per head
should be delivered in 6 hours. It the
available head is 15m. calculates the size
of the pipe required. Assume f= 0.
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(i} The water is to be pumped from a jack 0]
well to the service reservoir situated 2km
away. Workout the capacity of pumps and
motors from the following data.

Water to be raised per day = 8000m?3
Total hours of pumping = 16
R.L. of water level in jack well = 322.00m
R.L. of F.8.L. of reservoir = 342.00m
Depression of water level
during pumping = 1.50m
Friction in rising main =  lm/kmleg 15
Other losses of head due-to ’

bends values'etc., = im
Combined efficiency of pump and

motor N = 63%
@ Ef(ﬁlain ‘the sedimentation process used (8)

in a water treatment plants.

(i) "Draw_a neat sketch of sedimentation (8)
aided with flocculation tank in which
coagulant is used.

Or
(®) () Design the dimensions of a rectangular (8)
plain  sedimentation tank to treat
12x10%ml/day. Assume a detention period
of 6 hours and the velocity of flow as
20cm/second.
(ii} Find the area of slow sand filters required ®
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for a town having a population of 15000
with an average rate of demand as 160
liters per head per day.

Describe the methods of aeration in
treatment of water

Explain in detail the lime soda-process for
removal of permanent hardness from
water.

Or

Describe the methods of desalination in
treatment of water.

Briefly describe the operation and
maintenance aspects of water treatment
plants.

Discuss the design aspects of service
reserveir.

Explain the grid-iron and radial methods
of layout of distribution pipes.

Or

Enumerate some of the appurtenances
required for the pipes of water
distribution system.

Describe the principles of design of water
supply in buildings.
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